
                                                                            

       

 

     

 

         

          
 

 

              

 

             

 

       
   

     
 

 

       

                    

 

      

            

 

     

                

 

            

           

      

        

           

 

              

               

 

       

           

 

                     

              

 

                       

             

-~('-

_f 

_f _f _f _f 

____.t ____,t 

----

_f 
_f 

__J 

_f _f 

____,t _f _J 

_f __f 

_t 

_f 

_f _f 

_f ____t _f ____t 

NYC Coll g  of T chnology 

Math matics D partm nt revise  Fall 2010:  Colucci, Singh, Niezgo a, an  Taraporevala 

MAT 1175 FINAL EXAM REVIEW (Part:Alg bra R vi w) 

#1 Multiply or  ivi e an  simplify completely: 
2 2 2 2 2 2 x − 7x − 60 x + 5x + 6 x − 9 x −x −6 2x − x −6 6x −7x −3

a) ⋅ b) ÷ c) ⋅
2 2 2 2 2 x − 25 x − 10x −24 x + 6x −7 3x + 21 4x − 9 3x + 13x + 4

3y2 − 4y + 1 2x2 + 5x − 7 6x2 − 13x − 8
#2 Divi e by long  ivision: a) b) c) 

y − 2 x + 3 2x + 1 

7 4 3 9 − x
#3 a) Combine: + b) Combine: −

2x − 5 x + 2 x − 3 x − 4x +3

y + 2 1 y − 9 x + 3 2 9x − 8 
#4 a) Solve for y: − = b) Solve for x: − =

24y 2 10y x − 2 x x − 2x

#5 Simplify an  combine: 
5 3 2 4a) 3 27 − 2 12 + 75 − 3 b) 4x 18x3 − 7x2 32x + 162x c) 3y 45x y + 2x 80xy

#6 Multiply an Simplify: 
2 

a) ( 2 − 7 ) b) 5 2 (3 − 6 ) c) ( 3 − 2 5 )(4 3 + 5 )
#7 Rationalize the  enominator an  simplify: 

12 10 3 2 8 
a) b) c)  ) 

10 + 1 11 + 5 2 − 2 3 − 5

#8 Solve for x using the qua ratic formula. Express your the answers in simplest ra ical form. 

a) x2 − 10x + 7 = 0 b) 3x
2 − 4x =2 c) 4x2 + 4x = 6  ) 6x2 + 7x − 10 = 0

#9 Write the following in Slope Intercept form an  sketch the graph: 

a) 3x + 2y −2 = 0 b) 4x − 3y − 12 = 0 c) 2x + 5y + 10 = 0

#10 Simplify each the following an  express your answers using only positive exponents: 
−2−3 −3 4 −2 a b (x ) x y

a) b) c) −5 −2 −3 −1−3 4ab x x (x y ) 
#11 Solve an  check: 

a) x + 1 + 5 = x b) x − 1 = x −3 c) 4 − 7x = 2 − x

#12 Fin  the equation of the line that is perpen icular to the given line an goes through the given point. 

a) 3y − 2x + 5 = 0 at (4, 1) b) 5x + 2y + 1 = 0 at (5, -1) 

#13 Fin  the equation of the line that is parallel to the given line an goes through the given point. 

a) 3y − 2x + 5 = 0 at (-6, -5) b) 5x + 2y + 1 = 0 at (-2, 7) 
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ANSWERS: 
x + 3 

#1. a) 
x − 5 

5 
#2. a) 3y + 2 +

y −2 

11x − 6 
#3 a) 

(x − 5)(x + 2) 

#4 a) y = 4 b) 

#5 a) 9 3 b) 

#6 a) 9 − 2 14 b) 

4 10 − 4
#7 a) b) 

3 

#8 a) x = 5 ± 3 2 b) 

#9 a) y = − 3 x + 1 b) 
2 

b2 
#10 a) 

4 
b) 

a 

#11 a) x = 8 b) x = 5

#12 a) y = − 3 x + 7 b) 
2 

#13 a) y = 2 x − 1 b) 
3 

x + 3 x − 2 
b) c) 

(x − 1)(x + 2) x + 4

b) 2x − 1 − 4 
c) 3x − 8 

x + 3 

4 
a) 

x − 1 

x = 6

− 7x2 2x c) 17xy2 5x

15 2 − 10 3 c) 2 − 7 15 

5 11 − 5 5
c) 3 2 + 3 d) 6 + 2 5 

3 

2 ± 10 − 1 ± 7 5 
x = c) x = d) x = , x = −2

3 2 6 

y = 4 x − 4 c) y = − 2 x −2 
3 5 

1 y5 

3 
c) 

5 x x 

c) x = 0, −3

y = 2 x −3 
5 

y = − 5 x + 2 
2 


